(=t )

Scc

G, : Campown{: 940’0}\

DES Walk on G = DFS Uglh on G‘S“:>to,>ol?aa/ sot o G
v /
The lost \Bf'éextOVgihiS}'\ is in the [o}t-mat COW)DOﬁBA'é
Cin the ﬁzpo, sort on G,Scc')




To 9@6 e eptie /6\0(‘,—»:056 Cmpaﬁert % some verteX

Orendll| a/@(m{/nm (Kasw,aa’w%ﬂ'r);

ScelG):
. Pun DFSC@;) £o 60"7040‘/6 =¥inisl\(w) orall wél/

2. Rw\ DFS CGT), but i the mju&r /02’19,
COHQIdQY V@Y‘él'ce, " Or‘dLr DJZ 0(@[790«5[713 JLWSA time.
3, DFS @ step L gaes o DFS urest,
Ou{:fu'é the vertices of ench tree n the Jorest

a5 o ggfara,fe 3CC.
DFS(&) Rutine: QUVIHIEL)

€ime=0
F or 011{ w & V‘
cdor{ v )= WHITE

|.
2,
3,
b, paetl)=L

5 Forall uCl: <—her! ﬂop 57 &{a&r%h? inich tine.
b.

1,

T color{s)=WHITE
DF5' V:'y)t(,ét,u)



|. Minimum S'DM'M Tree CMS T)

Iﬂpmf G is on wdiected, comected gmf)}\ with o /wecyn‘,
awlny) pssocioted 4o coch 609!9 {u, V} EE,

Gl > Fird o spoaning tree. TCE (ootplic: and. casects oll i)
mwith sallgst total weight

w(T)= S wlun)
{u,v}GT

B 2 SR

Coreric MST(Gow): Loop Iny, -
A= Ais subsek of some MST
While A 45 et oL S <~—J
Jind {ur) 6E saz ¥ A

AsAufney Lo |fuud sk dn A & AUl b
Roburn A also o, subset d* some. MST




By /00)0 ., J some wofe edgt bt how do e dind, £

)
SOM, Dquim'@onj Fi rst:

- A ot GE) < o portition of vertices (S, 1-5)
- Edgq, Ju,8 et (S, 1-5) & ueS andl vEILS

— Juvla C/mSSi?? a ot # b as manimum
Weight o any edg& Crossing the cil




Thin: 4ot ASTEE fr some MST T, (S.145) be o cut
tespoctin A, and {utl be a ‘(49/&; crosing, (S, 1/-5).
Then {ﬁv} % sofe dor A. edée ?

Mi 2t T lge,a MST amfainb? A. H') {ijeT, w@/w dene,
Co assume {wIET,
Qo [0 0 spanma tree, /ow% in | drom uto v.
Fucbher, since wGS ard vEV-S. Some edg& (’X,a)

91'7\&{“/”}4‘/0 a, baht edg@
wluv) = wlxy)
iﬁ T’;T \{{’)‘333 U{{WV;}, Tt 15 a spum{;\& 4ree. ad
wlr')z w(T)=winig)+ wln)
<w(1)
Bit Taas MST, so T s also MST = {w} % sefe



2. KMSkAI B A [gorif/m

Correctness’ oty oo, comected mpm\em‘[; be C, then
the edga we odled & a L@H @dg@ Yo the cut (L,V-C),
onds 5 therebre sove.

MST-Kruskal (G=(1.E), w):
[ A=¢
). For oll vEV: [V" T (MpkeSet)
3, MakeSet (v) J /] each verbex <n 48 own comnected. comp.
4 Sort E 4n wn-dwwhg. order lE‘{og/EIS l’E/LD&IV’
5 For {uv} €E:
b, L3 FidSob () % FindSek ) 1/ wand v 1o dilf, comp
1, A=A O{u vt
g. Union(w,v) / merge ws and v5 C«ﬂnfmlehﬁs
9. Rtun A

Runtine: [V]: T(MokeSot ) TCSet E )+ JE] TCFiulSet ) 4] (Ui

Degont S Ceirs§13) - O(VI+IE[ ey IVI+IEeglv]
MobSet ©U) = Hvll«yvgz ?
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